FOJIENGINEERING

AIR OPERATED DOUBLE
DIAPHRAGM PUMP

-
FOJI ENGINEERING
SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,
GIDC, CHAR RASTA VAPI. 396195.
WWW.FOJIENGINEERING.IN

Mob No.: +91 8980280169
Mail ID: Dharmin@fojiengineering.in



FOJIENGINEERING

SECTION 1 — NOMENCLATURE

Max Flow rate : 135Lpm

Port Size : Inlet : 25.40mm (1" BSP)
Discharge : 25.40mm (1" BSP)
Air Inlet : 1/4" BSP
Air Exhaust : 12.70mm (1/2" BSP)

Suction Lift : Dry :3.05m (10')
Wet : 4.89m (16')
Teflon : Dry:2.14m (7")

Wet : 3.98m (13')
Max Particle Size (Dia) : 3.17mm (0.125")
Diaphragm : Teflon, Santoprene, Buna

SECTION 2 — FLOW CURVES

S A S
BAR FEET psic & §§ & &%
3007105 8 &F & ¥
8 J 275_ ' |" ',.." ~,..“.. 14 : ~..A\..
12807 0! AIR CONSUMPTION
w 225 R RN (SCFM)Nm*/H
= Ao N P T Y
® 6 |200-
® [ e RN
@ g [175] 79 |
@ N N % LN
> 150 N SO
_g 4 - 125 _ \_\\ \\ < ‘.\ \\_\
g 50 '«‘\ ‘ t\.\ \.,\ \\ ,\.T\ \_\
B 3100 I Yo N % %N
N T
75— BTy N bR
2 — n .
50— 25 w2
Y g .
o~ o o
GPM 10 20 50
[LPM] [38] [76] [114] [151] [189]
Water Discharge Flow Rates

-
FOJI ENGINEERING
SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,

GIDC, CHAR RASTA VAPI. 396195. Mob No.: +91 8980280169
WWW.FOJIENGINEERING.IN Mail ID: Dharmin@fojiengineering.in



\/E
FOJIENGINEERING

SECTION 3 — DIMENSIONAL DRAWING

317.68
[1251]
29524
. [1182]
[6.78] 1[?3;3"
101.00 2824
[3.98] - [1.41]
127.00
[5.00]
|
® i (O
188.15 160.15
[741] [6:31]
O l O

FOJI ENGINEERING

SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,

GIDC, CHAR RASTA VAPI. 396195. Mob No.: +91 8980280169
WWW.FOJIENGINEERING.IN Mail ID: Dharmin@fojiengineering.in



Np#

FOJI ENGINEERING

SECTION 4 — PUMP VIEW

181' -‘1 9 20

W

s wa—— - j
DETAIL'A' DETAIL'S'

]
FOJI ENGINEERING
SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,
GIDC, CHAR RASTA VAPI. 396195.
WWW.FOJIENGINEERING.IN

Mob No.: +91 8980280169
Mail ID: Dharmin@fojiengineering.in



14

15

22

FOJI ENGINEERING

SECTION 5 — SPARE PARTS LIST

Part Description

Aluminum Rubber

Liquid Chamber N94945
Suction/Discharge Manifold-NPT N92001
Ball, BUNA N90532-2
Ball Seat N92008-1
Seat O-Ring NY325-126
Holding Plate/Lock Nut T9344-1
Lock Nut (Hex Bolts) NY5-85-T
Lock Nut Washer N93189-1
Holding Plate/Lock Nut O-Ring NY325-14
Diaphragm N90533-2
Back Up Diaphragm

Center Block N94743
Sleeve N94527
Sleeve O-Ring NY325-20
Sleeve Retaining Ring NY145-25
Main Shaft N98724-1
Main Shaft O-Ring NY330-113
Pilot Shaft N93309-1
Spacer N115959
Spacer O-Ring N93075
Pilot Sleeve Bushing N98723-1
Pilot Shaft Lock O-Ring N94820

SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,

GIDC, CHAR RASTA VAPI. 396195.
WWW.FOJIENGINEERING.IN

Np#

FOJIENGINEERING

Mob No.: +91 8980280169

Mail ID: Dharmin@fojiengineering.in



FOJIENGINEERING

- Piston N92005

Piston Spacer 4 N92876
- Piston Spacer Big 1 N92006
- Piston Spacer Washer 5 N92877
Piston Spacer Ring Small 5 NY325-214
Piston Spacer Ring Big 6 NY325-126
Piston Block O Gasket 1 N92004
Piston Block U Gasket 1 N92878
Stand 2 N93707-1
- Piston Block Cap 1 N92011
- Piston Block Cap U Cap 1 NY186-51
M 8 x 45 MM SS Stud 16 N92866-1
M 8 x 25 MM Hex Bolts SS (Suc/Dis) 8 NY6-55-T
M 8 x 3/4" SS Stand Bolts 8 NY6-42-T
<y/  Sleeve Bushing Screw 4 NY154-41
Flange Nut SS M 8 16 NY12-5-5
1/4 x 12.5 x 1.2 MM SS Washer (P B Allen Bolt) 8 NY14-416-T

Muffler 1 N93110

FOJI ENGINEERING

SHOP NO. 116, PLATINUM MALL, OPP. VIA GROUND,

GIDC, CHAR RASTA VAPI. 396195. Mob No.: +91 8980280169
WWW.FOJIENGINEERING.IN Mail ID: Dharmin@fojiengineering.in



